	I think of a number.  I add 3.  The answer is 15.
	p + 3 = 15

	I think of a number.  I multiply it by 3.  The answer is 15.
	3m = 15

	I think of a number.  I subtract 3.  The answer is 15.
	w – 3 = 15

	I think of a number.  I add 2.  The answer is 10.
	h + 2 = 10

	I think of a number.  I subtract 2.  The answer is 10.
	k – 2 =10


	I think of a number.  I add 10.  The answer is 15.
	f + 10 = 15

	I think of a number.  I multiply it by 10.  The answer is 20.
	10n = 20

	I think of a number.  I subtract 4.  The answer is 2.
	j – 4 = 2

	I think of a number.  I add 2.  The answer is 4.
	c + 2 = 4

	I think of a number.  I subtract 5.  The answer is 10.
	d – 5 =10
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	I think of a number.  I add 2.  The answer is 10.
	h + 2 = 10
	h =

	I think of a number.  I subtract 2.  The answer is 10.
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	I think of a number.  I add 10.  The answer is 15.
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	I think of a number.  I multiply it by 10.  The answer is 20.
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	I think of a number.  I subtract 4.  The answer is 2.
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	I think of a number.  I add 2.  The answer is 4.
	c + 2 = 4
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	I think of a number.  I subtract 5.  The answer is 10.
	d – 5 =10
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